PAGE 1 / 21

Image# 201609129030778501

FEC FORM 3X

REPORT OF RECEIPTS AND DISBURSEMENTS

FORM 3X F	or Other Than	An Authorized	I Committe	e		Office Use Only			
1. NAME OF COMMITTEE (in full)	TYPE OR PRINT ▼	=/.0	mple: If typin r the lines.	g, type	12FE4M5				
AG PROCESSING INC	POLITICAL	ACTION COM	MMITTEE	, AGPAC	;				
ADDRESS (number and street)									
Check if different than previously reported. (ACC)	OMAHA	DGE ROAD			NE L	68154			
2. FEC IDENTIFICATION NU	MBER ▼	CITY 🛦		(STATE A	ZIP CC	DDE 🛦		
C C00207308		3. IS THIS REPORT	x (1	EW N) OR	AM (A)	IENDED			
4. TYPE OF REPORT (Choose One) (a) Quarterly Reports: April 15 Quarterly Report (Qr. July 15 Quarterly Report (Qr. July 15 Quarterly Report (Qr. January 31 Year-End Report (YE July 31 Mid-Year Report (Non-election Year Only) (MY) Termination Report (TER)	(c) 12-Day PRE-EI Report (d) 30-Day POST-E	ection for the:	J	2C)	x Sep	in the	Special (30S)		
5. Covering Period 08	01	2016	through	08	31	2016			
I certify that I have examined this Type or Print Name of Treasurer	•	-	wledge and b	elief it is tru	e, correct and	I complete.			
Signature of Treasurer Dave	Wilwerding		[Electronically		ate 09	12 12	2016		
NOTE: Submission of false, errone Office	ous, or incomplete	information may su	bject the pers	on signing th	is Report to th	FEC FOF			
Use Only						Rev. 12/2			

SUMMARY PAGE OF RECEIPTS AND DISBURSEMENTS

FEC Form 3X (Rev. 02/2003) Page 2

Write or Type Committee Name

AG PROCESSING INC POLITICAL ACTION COMMITTEE, AGPAC

80 2016 08 2016 Report Covering the Period: 31 From: To: **COLUMN A COLUMN B** This Period Calendar Year-to-Date (a) Cash on Hand 78783.76 January 1, 2016 (b) Cash on Hand at 75566.08 Beginning of Reporting Period..... 3065.11 30132.08 (c) Total Receipts (from Line 19) (d) Subtotal (add Lines 6(b) and 6(c) for Column A and Lines 108915.84 78631.19 6(a) and 6(c) for Column B)..... 10004.95 40289.60 7. Total Disbursements (from Line 31)...... Cash on Hand at Close of 8. Reporting Period 68626.24 68626.24 (subtract Line 7 from Line 6(d))..... Debts and Obligations Owed TO the Committee (Itemize all on 0.00 Schedule C and/or Schedule D) 10. Debts and Obligations Owed BY the Committee (Itemize all on 0.00 Schedule C and/or Schedule D) This committee has qualified as a multicandidate committee. (see FEC FORM 1M)

For further information contact:

Federal Election Commission 999 E Street, NW Washington, DC 20463

Toll Free 800-424-9530 Local 202-694-1100

DETAILED SUMMARY PAGE

of Receipts

FEC Form 3X (Rev. 06/2004)

Write or Type Committee Name

AG PROCESSING INC POLITICAL ACTION COMMITTEE, AGPAC

I. Receipts	COLUMN A Total This Period	COLUMN B Calendar Year-to-Date		
. Contributions (other than loans) From: (a) Individuals/Persons Other Than Political Committees				
(i) Itemized (use Schedule A)	2360.00	12695.00		
(ii) Unitemized(iii) TOTAL (add	702.00	14912.00		
Lines 11(a)(i) and (ii)	3062.00	27607.00		
(b) Political Party Committees	0.00	2500.00		
(such as PACs)(d) Total Contributions (add Lines	0.00	0.00		
11(a)(iii), (b), and (c)) (Carry Totals to Line 33, page 5)	3062.00	30107.00		
Transfers From Affiliated/Other Party Committees	0.00	0.00		
. All Loans Received	0.00	0.00		
-	0.00	0.00		
Loan Repayments Received Offsets To Operating Expenditures (Refunds, Rebates, etc.)	0.00	0.00		
(Carry Totals to Line 37, page 5)	0.00	0.00		
to Federal Candidates and Other Political Committees	0.00	0.00		
Other Federal Receipts (Dividends, Interest, etc.)	3.11	25.08		
. Transfers from Non-Federal and Levin Funds (a) Non-Federal Account				
(from Schedule H3)	0.00	0.00		
(b) Levin Funds (from Schedule H5)	0.00	0.00		
(c) Total Transfers (add 18(a) and 18(b))	0.00	0.00		
Total Paggints (add Lines 44/d)				
. Total Receipts (add Lines 11(d), 12, 13, 14, 15, 16, 17, and 18(c))▶	3065.11	30132.08		
. Total Federal Receipts (subtract Line 18(c) from Line 19)▶	3065.11	30132.08		

DETAILED SUMMARY PAGE

of Disbursements

FEC Form 3X (Rev. 02/2003)

Page 4

	II. Disbursements	COLUMN A Total This Period	COLUMN B Calendar Year-to-Date
Operating Expenditures: (a) Allocated Federal/Non-Federal Activity (from Schedule H4)			
	(i) Federal Share	0.00	0.00
((ii) Non-Federal Share	0.00	0.00
(b) (Other Federal Operating		
	Expenditures	4.95	39.60
. ,	Total Operating Expenditures (add 21(a)(i), (a)(ii), and (b))▶	4.95	39.60
	sfers to Affiliated/Other Party		
	nitteesibutions to	0.00	0.00
Fede	ral Candidates/Committees Other Political Committees	10000.00	40250.00
-	pendent Expenditures	0.00	0.00
Coor	Schedule E)dinated Party Expenditures	0.00	0.00
(2 U. (use	S.C. §441a(d)) Schedule F)	0.00	0.00
6. Loan	Repayments Made	0.00	0.00
	s Made	0.00	0.00
(a) I	nds of Contributions To: ndividuals/Persons Other Than Political Committees	0.00	0.00
	Than I olitical committees		
	Political Party Committees	0.00	0.00
` '	Other Political Committees (such as PACs)	0.00	0.00
(d) -	Total Contribution Refunds		
` '	(add Lines 28(a), (b), and (c))▶	0.00	0.00
9. Othe	r Disbursements	0.00	0.00
	_		
	ral Election Activity (2 U.S.C. §431(20)) Allocated Federal Election Activity		
` '	(from Schedule H6)		
	(i) Federal Share	0.00	0.00
	(ii) "Levin" Share	0.00	0.00
	Federal Election Activity Paid Entirely		
, , -	With Federal Funds	0.00	0.00
` '	Total Federal Election Activity (add Lines 30(a)(i), 30(a)(ii) and 30(b))▶	0.00	0.00
1. Total	Disbursements (add Lines 21(c), 22,		
	4, 25, 26, 27, 28(d), 29 and 30(c))	10004.95	40289.60
2. Total	Federal Disbursements		
	ract Line 21(a)(ii) and Line 30(a)(ii)	4004.05	
irom	Line 31)	10004.95	40289.60

DETAILED SUMMARY PAGE

of Disbursements

FEC Form 3X (Rev. 02/2003)

Page 5

III. Net Contributions/Operating Expenditures	COLUMN A Total This Period	COLUMN B Calendar Year-to-Date
3. Total Contributions (other than loans) (from Line 11(d), page 3)	3062.00	30107.00
4. Total Contribution Refunds (from Line 28(d))	0.00	0.00
5. Net Contributions (other than loans) (subtract Line 34 from Line 33)	3062.00	30107.00
6. Total Federal Operating Expenditures (add Line 21(a)(i) and Line 21(b))▶	4.95	39.60
7. Offsets to Operating Expenditures (from Line 15, page 3)	0.00	0.00
3. Net Operating Expenditures (subtract Line 37 from Line 36)	4.95	39.60

Use separate schedule(s) for each category of the Detailed Summary Page

F	FOR LINE NUMBER:							6	OF		21	
(check only one)												
	X	11a		11b		11c		12	2			
		13		14		15		16	6		17	

_	1 1 -,	, , ,			
\geq	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITION	CAL ACTION COMMITTEE, AGP	AC		
Α.	Full Name (Last, First, Middle Initial) Troy Alberts Mailing Address 19258 Walnut St		Date of Receipt		
	City Omaha FEC ID number of contributing	State Zip Code NE 68130	08 01 2016 Transaction ID : SA11Al.22298 Amount of Each Receipt this Period		
	federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) Other (specify)	Occupation VP Refined Oils Aggregate Year-to-Date ▼ 340.00	Memo Item Bi-weekly-pyrl-2@\$20.00		
В.	Full Name (Last, First, Middle Initial) Matthew W Caswell Mailing Address 17102 R Circle	Date of Receipt M = M / D = D / Y = Y = Y = Y = Y = Y = Y = Y = Y = Y			
	City Omaha	State Zip Code NE 68135	08 01 2016 Transaction ID : SA11AI.22291 Amount of Each Receipt this Period		
	FEC ID number of contributing federal political committee. Name of Employer	Occupation	100.00 Memo Item Bi-weekly-pyrl-2@\$50.00		
	Ag Processing Inc Receipt For: Primary General Other (specify) ▼	Vp Corp Mbr Rel/Govmt/Affairs Aggregate Year-to-Date ▼ 850.00	ы-меску-руп-2 @ ф50.00		
С.	Full Name (Last, First, Middle Initial) Raymond Choquette Mailing Address 21893 Hambsch LN		Date of Receipt M = M		
	City Gleenwood	State Zip Code IA 51534	Transaction ID : SA11AI.22299 Amount of Each Receipt this Period		
	FEC ID number of contributing federal political committee.	C	40.00 Memo Item		
	Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) ▼	Occupation Director Corporate Purchasing Aggregate Year-to-Date ▼ 340.00	Bi-weekly-pyrl-2@\$20.00		
s	UBTOTAL of Receipts This Page (optional)	<u> </u>	180.00		
Ιт	OTAL This Period (last page this line number of	only)			

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:					PAGE		7	OF	21	
(0	(check only one)									
	X	11a		11b		11c		12	2	
		13		14		15		16	6	17

-	tor commercial purposes, other than doing the	Tiame and address of any political committee to	Const. Contributions from Such Sommittee.
$\overline{}$		CAL ACTION COMMITTEE, AGP	AC
۸.	Full Name (Last, First, Middle Initial) Chuck T Coffey Mailing Address 54612 202nd St City Pacific Junction FEC ID number of contributing federal political committee.	State Zip Code IA 51561	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22300 Amount of Each Receipt this Period 40.00
	Name of Employer Ag Processing Inc Receipt For: □ Primary □ General Other (specify) ▼	Occupation Director Corporate Safety Aggregate Year-to-Date ▼ 340.00	Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Full Name (Last, First, Middle Initial) Mark Craigmile Mailing Address 12321 Scott Cir City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68142 C Occupation Sr. VP Operations Aggregate Year-to-Date ▼	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22295 Amount of Each Receipt this Period 50.00 Memo Item Bi-weekly-pyrl-2@\$25.00
C .	Full Name (Last, First, Middle Initial) Gina Cronican Mailing Address 7710 S 93rd Street City LaVista FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68128 C Occupation Mgr Organizational/Mgnt Development Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22301 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
s	UBTOTAL of Receipts This Page (optional)	>	130.00
Т	OTAL This Period (last page this line number of	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE		8	OF	21
(check only one)										
	X	11a		11b		11c		12		
		13		14		15		16	6	17

\rangle	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITIC	CAL ACTION COMMITTEE, AGP	AC
۹.	Full Name (Last, First, Middle Initial) Kyle Droescher Mailing Address 222 S 199th St		Date of Receipt
	City Elkhorn FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General	State Zip Code NE 68022 C Occupation Director Finance Aggregate Year-to-Date ▼	O8 01 2016 Transaction ID: SA11AI.22302 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Other (specify) ▼ Full Name (Last, First, Middle Initial) Jim C Farley Mailing Address 17221 K St	340.00	Date of Receipt
	City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) ▼	State Zip Code NE 68135 C Occupation Sr Dir Verg Oils/Co-Products Aggregate Year-to-Date ▼ 340.00	Memo Item Bi-weekly-pyrl-2@\$20.00
C .	Full Name (Last, First, Middle Initial) David Gast Mailing Address 17368 S St. City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68135 C Occupation Dir Nutrional Services Aggregate Year-to-Date ▼ 255.00	Date of Receipt M M M / D D / 2016 Transaction ID: SA11AI.22334 Amount of Each Receipt this Period 30.00 Memo Item Bi-weekly-pyrl-2@\$15.00
S	UBTOTAL of Receipts This Page (optional)	<u> </u>	110.00
Т	OTAL This Period (last page this line number of	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE		9	OF		21
(check only one)											
	X	11a		11b		11c		12			
		13		14		15		16			17

-		Traine and address of any political committee to	o contractions from odon committee.
$\overline{}$		CAL ACTION COMMITTEE, AGP	AC
۹.	Full Name (Last, First, Middle Initial) Steven C Hansen Mailing Address 7119 S 173rd St		Date of Receipt M = M / D = D / Y = Y = Y = Y = Y = Y = Y = Y = Y = Y
	City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68136 C Occupation VP Engineering Aggregate Year-to-Date ▼ 340.00	Transaction ID: SA11AI.22304 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Full Name (Last, First, Middle Initial) Gwen Jahn Mailing Address 2790 380th St City Manning FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code IA 51455 C Occupation Accounting Supervisor Aggregate Year-to-Date ▼ 340.00	Date of Receipt M M M
C.	Full Name (Last, First, Middle Initial) Jodie Johnson Mailing Address 620 North Shore Dr City Hastings FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68901 C Occupation Merchandising Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22306 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
s	UBTOTAL of Receipts This Page (optional)	>	120.00
Т	OTAL This Period (last page this line number of	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE	•	10	OF		21
(check only one)											
X 11a 11b					11c		12				
		13		14		15		16	;		17

		, hame and address of any political committee to	- CONTROL CONTRIBUTION NOT CONTRIBUTION.
AG PR		CAL ACTION COMMITTEE, AGP	'AC
A. Stepher	(Last, First, Middle Initial) n Johnson Idress 26833 Taylor Cir		Date of Receipt
Name of E Ag Process Receipt Fo	sing Inc	State Zip Code NE 68064 C Occupation Director Systems & Programming Aggregate Year-to-Date ▼ 340.00	Transaction ID: SA11AI.22307 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
Mailing Ad City Sgt. Bluff FEC ID nu federal pol Name of E Ag Process Receipt Fo Prim Othe	sing Inc or: hary General or (specify) ▼	State Zip Code IA 51054 C Occupation Regional Merchandising Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt M M M / D D / Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y
City Sioux City FEC ID nu federal pol Name of E Ag Proces Receipt Fc	umber of contributing litical committee. Employer ssing Inc	State Zip Code IA 51106 C Occupation Accounting Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22309 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
SUBTOTAL	of Receipts This Page (optional)	>	120.00
TOTAL This	Period (last page this line number	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE	. 1	11	OF	21
(0	(check only one)									
	X	11a		11b		11c		12		
		13		14		15		16	;	17

_		name and address of any political committee to	The second secon
$\overline{}$		CAL ACTION COMMITTEE, AGP	AC
۹.	Full Name (Last, First, Middle Initial) Gerald Knapp Mailing Address 14522 J Circle		Date of Receipt
	City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68137 C Occupation IS Operating Manager Aggregate Year-to-Date ▼ 340.00	Transaction ID: SA11AI.22310 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Full Name (Last, First, Middle Initial) Roger L Koch Mailing Address 9503 S 26th St. City Bellevue FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68147 C Occupation Director Quality Assurance Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11Al.22311 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
C .	Full Name (Last, First, Middle Initial) Jeffrey Lampman Mailing Address 1607 Grand St City Webster City FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code IA 50595 C Occupation Plant Operations Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22312 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
s	SUBTOTAL of Receipts This Page (optional)	<u> </u>	120.00
Т	OTAL This Period (last page this line number of	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE	. 1	12	OF	21
(c	he	ck only								
	X	11a		11b		11c		12		
		13		14		15		16		17

or for commercial purposes, other than using the	te name and address of any political committee to	o solicit contributions from such committee.
/	TICAL ACTION COMMITTEE, AGE	PAC
Full Name (Last, First, Middle Initial) Gary Lippstreu Mailing Address 21210 Arbor Court		Date of Receipt
City Elkhorn FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) ▼	State Zip Code NE 68022 C Occupation Director Internal Audit Aggregate Year-to-Date ▼ 340.00	Transaction ID: SA11AI.22313 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
Full Name (Last, First, Middle Initial) Terry McClatchey Mailing Address 7307 SE Summit Dr City St. Joseph FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary Other (specify)	State Zip Code MO 64507 C Occupation Merchandising Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11Al.22314 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
Full Name (Last, First, Middle Initial) Kent A McDermott Mailing Address PO Box 320 City Minden FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary Other (specify)	State Zip Code IA 51553 C Occupation Manager Networking Services Aggregate Year-to-Date ▼ 340.00	Date of Receipt M M M / D D / 2016 Transaction ID: SA11AI.22315 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
SUBTOTAL of Receipts This Page (optional)	>	120.00
TOTAL This Period (last page this line number	er only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE	. 1	13	OF	21
(c	he	ck only								
	×	11a		11b		11c		12		
		13		14		15		16		17

		Traine and address of any political committee to	Conc. Commissions from Such Committee.
	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITIC	CAL ACTION COMMITTEE, AGP	AC
4. I	Full Name (Last, First, Middle Initial) Mark J Meierotto Mailing Address 3473 Ironwood City	State Zip Code	Date of Receipt M M M / D D / Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y
- F f	Manly FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	IA 50456 C Occupation Merchandising Manager Aggregate Year-to-Date ▼ 340.00	Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3	Full Name (Last, First, Middle Initial) Calvin Meyer Mailing Address 4136 Country Rd 37 City Blair FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68008 C Occupation Grp VP Proc, RefOils & RenFuel Aggregate Year-to-Date ▼ 1020.00	Date of Receipt M M M / D D / 2016 Transaction ID: SA11Al.22290 Amount of Each Receipt this Period 120.00 Memo Item Bi-weekly-pyrl-2@\$60.00
C r	Full Name (Last, First, Middle Initial) Terry Monger Mailing Address 4602 Badger City Saint Joseph FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary Other (specify)	State Zip Code MO 64506 C Occupation Plant Superintendent Aggregate Year-to-Date ▼ 340.00	Date of Receipt M M M 2016 2016 Transaction ID: SA11AI.22317 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
SU	JBTOTAL of Receipts This Page (optional)	>	200.00
тс	DTAL This Period (last page this line number o	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER: PAGE 14 OF (check only one)

**Ita 11b 11c 12

80

Memo Item

Bi-weekly-pyrl-2@\$20.00

01

Transaction ID: SA11AI.22319

Amount of Each Receipt this Period

21

12 Detailed Summary Page 13 14 15 16 Any information copied from such Reports and Statements may not be sold or used by any person for the purpose of soliciting contributions or for commercial purposes, other than using the name and address of any political committee to solicit contributions from such committee. NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITICAL ACTION COMMITTEE, AGPAC Full Name (Last, First, Middle Initial) Ramanathan Narayanan Date of Receipt Mailing Address 2012 S 194th St 01 2016 08 City Zip Code State Transaction ID: SA11AI.22318 ΝE Omaha 68130 Amount of Each Receipt this Period FEC ID number of contributing 40.00 federal political committee. Memo Item Name of Employer Occupation Bi-weekly-pyrl-2@\$20.00 Dir Refined Oils Ops Ag Processing Inc Receipt For: Aggregate Year-to-Date ▼ Primary General 340.00 Other (specify) Full Name (Last, First, Middle Initial) B. Steve Nogel Date of Receipt Mailing Address 16636 Mason St. 80 01 2016 City State Zip Code Transaction ID: SA11AI.22294 NE Omaha 68118 Amount of Each Receipt this Period FEC ID number of contributing 80.00 federal political committee. Memo Item Name of Employer Occupation Ag Processing Inc Bi-weekly-pyrl-2@\$40.00 VP Renewable Fuels Receipt For: Aggregate Year-to-Date ▼ Primary General Other (specify) 680,00 Full Name (Last, First, Middle Initial) c. Carl Parker Date of Receipt Mailing Address 17321 M st

340.00

Zip Code

68135

State

NF

С

Occupation

Director Bulk Services

Aggregate Year-to-Date ▼

City

Omaha

FEC ID number of contributing

General

federal political committee.

Other (specify)

Name of Employer

Ag Processing Inc Receipt For:

Primary

2016

40.00

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:						PAGE	. 1	15	OF	21
(c	he	ck only								
	×	11a		11b		11c		12		
		13		14		15		16		17

<u> </u>		Thanke and address of any political committee to	Conon contributions from coor committee.
$\overline{}$	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITION	CAL ACTION COMMITTEE, AGP	AC
۹.	Full Name (Last, First, Middle Initial) Sarah Perry Mailing Address 6322 S 177th St		Date of Receipt M M M / D D / Y D Y D Y D Y D Y D D Y D D Y D D Y D
	City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) ▼	State Zip Code NE 68135 C Occupation Manager Logistic, Veg Oils/Indus Produc Aggregate Year-to-Date ▼ 340.00	Transaction ID : SA11AI.22320 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Full Name (Last, First, Middle Initial) Adam Piper Mailing Address 1405 SW 1st St City Eagle Grove FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code IA 50533 C Occupation Merchandising Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22321 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
C.	Full Name (Last, First, Middle Initial) Scott Quick Mailing Address 637 Hackberry Street City Dawson FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code MN 56232 C Occupation Marketing Manager Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22322 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
s	SUBTOTAL of Receipts This Page (optional)	>	120.00
Т	OTAL This Period (last page this line number of	only)	

Use separate schedule(s) (c) for each category of the Detailed Summary Page

	FC	PAGE		16	OF	21				
	(check only one)									
X 11a 11b					11c		12			
		13		14		15		16		17

	g the name and address of any political committee	to constructions from odon committee.
/	LITICAL ACTION COMMITTEE, AG	PAC
Full Name (Last, First, Middle Initial) A. John Ramsey Mailing Address 1103 Elm St		Date of Receipt 08 01 _ 2016 _
City Manning FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) ▼	State Zip Code IA 51455 C Occupation Plant Superintendent Aggregate Year-to-Date ▼ 425.00	Transaction ID : SA11AI.22296 Amount of Each Receipt this Period 50.00 Memo Item Bi-weekly-pyrl-2@\$25.00
Full Name (Last, First, Middle Initial) John Rever Mailing Address 4711 N Heatherwood Dr City St. Joseph FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code MO 64506 C Occupation Plant Operations Manager I Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22323 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
Full Name (Last, First, Middle Initial) Mark Sandeen Mailing Address 1512 Gilder Ave City Bennington FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68007 C Occupation VP Processing Marketing Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11Al.22324 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
SUBTOTAL of Receipts This Page (optional	al)	130.00
TOTAL This Period (last page this line num	nber only)	

FOR LINE NUMBER: PAGE 17 OF Use separate schedule(s) for each category of the Detailed Summary Page

(0	(check only one)									
	X	11a		11b		11c		12		
		13		14		15		16		17

Any information copied from such Reports and Statements may not be sold or used by any person for the purpose of soliciting contributions

OI IC	or commercial purposes, other than using the	name and address of any political committee to	Solicit Contributions from Such Confiffittee.
	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITION	CAL ACTION COMMITTEE, AGP	AC
A	Full Name (Last, First, Middle Initial) Christian Schaffer Mailing Address 13804 S 22nd St	State Zip Code NE 68123 C Occupation VP Export Marketing Aggregate Year-to-Date ▼ 340.00	Date of Receipt M M M OB O1 2016 Transaction ID: SA11AI.22325 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Adrian N Sealine Mailing Address 25242 332nd St City Sioux City EC ID number of contributing ederal political committee. Name of Employer to Primary General Other (specify)	State Zip Code IA 51108 C Occupation Sr. Merchandiser Aggregate Year-to-Date ▼ 340.00	Date of Receipt M M M / D D / 2016 Transaction ID: SA11Al.22326 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
C	Full Name (Last, First, Middle Initial) J. Keith Spackler Mailing Address 24808 Jones Cir City Waterloo FEC ID number of contributing ederal political committee. Jame of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68069 C Occupation CEO/General Manager Aggregate Year-to-Date ▼	Date of Receipt M M M
SU	BTOTAL of Receipts This Page (optional)	<u></u>	460.00
то	TAL This Period (last page this line number o	nly)	

Use separate schedule(s) for each category of the Detailed Summary Page

F						PAGE	. 1	18	OF	21
(0	(check only one)									
	X	11a		11b		11c		12		
		13		14		15		16	;	17

-	Tor commercial purposes, other than using the	Thank and address of any political committee to	3 3011CR COTHER DULIONS TOTAL SUCIA CONTINUECC.
\geq	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITION	CAL ACTION COMMITTEE, AGP	AC
Α.	Full Name (Last, First, Middle Initial) Terry Sterk Mailing Address 433 10th Street		Date of Receipt
	City Manning	State Zip Code IA 51455	08 01 2016 Transaction ID : SA11AI.22327 Amount of Each Receipt this Period
	FEC ID number of contributing federal political committee.	С	40.00
	Name of Employer Ag Processing Inc	Occupation Plant Operations Manager I	Memo Item Bi-weekly-pyrl-2@\$20.00
	Receipt For: Primary General Other (specify) ▼	Aggregate Year-to-Date ▼ 340.00	
В.	Full Name (Last, First, Middle Initial) Roger W Strahm		Date of Receipt
	Mailing Address 1616 S 17th St City	State Zip Code	08 01 2016 Transaction ID : SA11Al.22328
	Saint Joseph FEC ID number of contributing federal political committee.	MO 64503	Amount of Each Receipt this Period 40.00
	Name of Employer Ag Processing Inc	Occupation Plant Operations Manager I	Memo Item Bi-weekly-pyrl-2@\$20.00
	Receipt For: Primary General Other (specify) ▼	Aggregate Year-to-Date ▼ 340.00	
С.	Full Name (Last, First, Middle Initial) Dawn Sundvold		Date of Receipt
	Mailing Address PO Box 100		08 01 Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y
	City Manly	State Zip Code IA 50456	Transaction ID : SA11AI.22329 Amount of Each Receipt this Period
	FEC ID number of contributing federal political committee.	С	40.00
	Name of Employer Ag Processing Inc Receipt For:	Occupation Accounting Supervisor	Memo Item Bi-weekly-pyrl-2@\$20.00
	Primary General Other (specify) ▼	Aggregate Year-to-Date ▼ 340.00	
S	SUBTOTAL of Receipts This Page (optional)	····	120.00
Т	OTAL This Period (last page this line number of	only)	

Use separate schedule(s) for each category of the Detailed Summary Page

FOR LINE NUMBER:					PAGE	. 1	19	OF	21	
(check only one)										
	X	11a		11b		11c		12		
		13		14		15		16		17

or for commercial purposes, other than using the	he name and address of any political committee to	o solicit contributions from such committee.				
/	TICAL ACTION COMMITTEE, AGE	PAC				
Full Name (Last, First, Middle Initial) A. Greg Twist Mailing Address 17417 Walnut	Greg Twist					
City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: □ Primary □ General □ Other (specify) ▼	State Zip Code NE 68130 C Occupation Sr. VP Transportation Aggregate Year-to-Date ▼ 850.00	08 01 2016 Transaction ID: SA11AI.22293 Amount of Each Receipt this Period 100.00 Memo Item Bi-weekly-pyrl-2@\$50.00				
Full Name (Last, First, Middle Initial) Andrew J Wilson Mailing Address 16566 Hascall St. City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68130 C Occupation National Account Manager Aggregate Year-to-Date ▼ 425.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22297 Amount of Each Receipt this Period 50.00 Memo Item Bi-weekly-pyrl-2@\$25.00				
Full Name (Last, First, Middle Initial) Dave Wilwerding Mailing Address 9307 Edna City LaVista FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68128 C Occupation Sr. VP General Council Aggregate Year-to-Date ▼ 340.00	Date of Receipt M				
SUBTOTAL of Receipts This Page (optional)		190.00				
TOTAL This Period (last page this line numbe	er only)					

Use separate schedule(s) for each category of the Detailed Summary Page

					PAGE	2	20	OF	21	
(check only one)										
	X	11a		11b		11c		12		
		13		14		15		16		17

٥,	tor commercial purposes, other than doing the	Tiame and address of any political committee to	Const. Contributions from Such Committee.
$\overline{}$	NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITION	CAL ACTION COMMITTEE, AGP	AC
۹.	Full Name (Last, First, Middle Initial) Ed Woll Mailing Address 18308 Nina Street	Date of Receipt	
	City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify) Other (specify)	State Zip Code NE 68130 C Occupation Sr. Director of Corporate Relations Aggregate Year-to-Date ▼ 340.00	O8 01 2016 Transaction ID: SA11AI.22332 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
3.	Full Name (Last, First, Middle Initial) Don Woodburn Mailing Address 17540 V St. City Omaha FEC ID number of contributing federal political committee. Name of Employer Ag Processing Inc Receipt For: Primary General Other (specify)	State Zip Code NE 68135 C Occupation Sr. Director Marketing Aggregate Year-to-Date ▼ 340.00	Date of Receipt 08 01 2016 Transaction ID: SA11AI.22333 Amount of Each Receipt this Period 40.00 Memo Item Bi-weekly-pyrl-2@\$20.00
S.	Full Name (Last, First, Middle Initial) Mailing Address City FEC ID number of contributing federal political committee. Name of Employer Receipt For: Primary General Other (specify) Other (specify)	State Zip Code C Occupation Aggregate Year-to-Date ▼	Date of Receipt Amount of Each Receipt this Period Memo Item
S	SUBTOTAL of Receipts This Page (optional)	<u> </u>	80.00
Т	OTAL This Period (last page this line number of	only)	2360.00

SCHEDULE B (FEC Form 3X)	11	FOR LINE I	NUMBER: PAGE 21 OF 21				
ITEMIZED DISBURSEMENTS	Use separate schedule(s) for each category of the Detailed Summary Page	(check only 21b 27	one) 22				
Any information copied from such Reports and Statem or for commercial purposes, other than using the name							
NAME OF COMMITTEE (In Full) AG PROCESSING INC POLITICAL							
Full Name (Last, First, Middle Initial) A. ASHFORD, BRAD			Date of Disbursement				
Mailing Address PO BOX 24023			08 16 2016				
OMAHA	State Zip Code NE 68124		Transaction ID : SB23.22375				
Purpose of Disbursement CK#2068 Ashford for Congress			Amount of Each Disbursement this Period				
Candidate Name		Category/ Type	5000.00				
Senate	nent For: 2016 Primary x General Other (specify) ▼		Memo Item				
Full Name (Last, First, Middle Initial) B. DAVID YOUNG VICTORY FUND Mailing Address PO BOX 225	DAVID YOUNG VICTORY FUND						
City S VAN METER	State Zip Code IA 50261		Transaction ID : SB23.22372				
Purpose of Disbursement CK# 2067 - David Young Victory Fund Candidate Name		Category/	Amount of Each Disbursement this Perio				
Senate President	nent For: 2016 Primary General Other (specify)	Туре	Memo Item				
Full Name (Last, First, Middle Initial)	Full Name (Last, First, Middle Initial)						
Mailing Address		M M / D D / Y Y Y Y Y					
City							
Purpose of Disbursement	· · · ·	Amount of Each Disbursement this Period					
Candidate Name	Category/ Type						
Office Sought: House Disbursen		Memo Item					
			4000000				
SUBTOTAL of Disbursements This Page (optional)		······	10000.00				
TOTAL This Period (last page this line number only)			10000.00				